EEEEEERER BEEEEEEER
EEEEER EEEERER
[ N | [ N |
[} | | N |
[ N | [ N |
[ N | [ B |
[ N | [ B |
[ | [ |
[ | [ ]
AIBSBBFRE NS
(SF2F78)
E_ £ YIS ZE 5 A L] -
T 2 a 1t B & ::
[ B | | B
N | | N |
HB B




any

o N o o ~ W N

9

#1110

Eh

g81 2

a81 3

&1 4

g815

LBSWHEEINR

LBSEWHEENRR (7TBP)
LEBWHEERR (7TRF
LBBWAEEIRNR (BXR:I32)
LBESHALERR (7TRAX)
LBECSHAEEIRR (BR:T32)
BB OMRREE (7TRAFO
EEMNRBIZESHIEER (7HAFR)
tENRRSHBXEN (7B
ARE=E T

EEIREE L
SEBDRIFADCERBEHOHR
SEESHDEBE (7TBX)
MEAR « ERBRIFEERR (7THF)
BRI - ERl « STBEREBIFREIRR (7TBFRD




X B B HNHEE R R &H1)
2E . PESE - BREDESEH (7AF)
LEOREY | PESEOREY | SREDEEL
HA2FT7BXR 1,547 110 e
SATETBEX 1,647 121 15
1EEL -100 -11 -8
IS -6.1% -9.1% -533%
TBESEERR (7AD)
O % 4 # 50 £ AiEEXdLL -7 # ( -123%
O & M 1A AL -1 A ( -500%
O BalEBEN 56 A AL -8 A ( -125%
RUSHOKR (TAR 7T #H 7 AD
) BERBIFEE
B | 28 |twvs| s | asE| zom| 5t
wR28% O 2 3 1 O 1 7
SHEl 5 2 4 @) 2 2 15
(2) FE B DBIERARRY (3) FHERITEL
wERS| BIE [2of] § 15EUT| BE |20t | SnE| 3
"[H2F| 2 4 1 7 =H2%F| O 1 3 3 e
SRTE 2 10 3 15 SHE|! O @) 6 9 15
(4) JREEBIBESEH
175 | BmE | ahn |PED| 2oft| &t
wR2%| O 2 5 O @) 7
SHTE| 3 1 11 @) @) 15
6) BSRISBIREHY BRI TH wR Off
O~60F|6~1285| 12~1885| 18~2485|| 5
=H2F] O 1 6 @) 7
HRTE A 2 6 6 15
6) B1 BESDEHER
15ENT| BE | 20| siE|
wF2% O 1 4 2 7
SiE| O O 8 7 15
(7) BREEBSONR  AE A @E 9 A
7 BER 1 IRRER
B | ® | 3 575 | BEmE | ann |2of| 3
SR2%F| 3 3 SR25F 1 2 3
SHE| 6 3 9 HIOTE| 2 1 §) 9




RBEBBWRAELENR (7TBAD) En2)
1 EEIRNR
(1)ER O EBRBIUAR
) P N Xn| B GG =3
e il i e e e R T
25 50 1 56 2% 41 1 9 O 50 1
T 57 2 64 pa=s 48 2 9 @) 57 2
1B -7 -1 -8 1B -7 -1 O O -7 -1
EFER [-12.3%|-500%|-125% IR | -146%|-500%| 0.0%| — |-12.3%|-500%
2)E (%) BIRERNFEEINT
B | B3 | 858 | 5K | BS |=sxuw| XF | 88 | 2iF |52 55
2% 12 1 2 1 4 1 25 2 2 O 50
REHH| JTE 11 1 3 1 7 5 27 O 2 O 57
1B 1 O -1 O -3 -4 -2 2 O O -7
2% O O O O 1 O O O O O 1
BEH | o O O 1 O O 1 O O O O 2
SR O O -1 O 1 -1 O O O O -1
2 17 1 2 1 4 1 26 2 2 O 56
aEsEY| &5 13 3 2 1 7 4 32 O 2 O 64
SR 4 -2 O O -3 -3 -6 2 O O -8
2 EE%BU%EI%%EI&U%%@
55 BESA _ME =5 828 |mowa| sdE | Zoft|Es 5t
2% 15 O 15 16 O 4 50
FAEHH JoE 19 O 21 14 O 3 57
1B -4 O -6 2 O 1 -7
2% O O 1 O O O 1
EEE JTE 1 O O 1 O O 2
1B -1 O 1 -1 O O -1
3 Fnpl SROUARERIFE B £
X2|15m% |16~ |25~ [30~ |40~ |50~ |60~ |65 o = .
JREE MF| 2am| com| som| acm| som| eam| mr| T 5 | WEAEE &
BaEESrP 0.0% 2
_bpE&Eentn 0.0%
BhEED 0.0%
Bé#rsEAP 1 11100.0%
s 3 B 0.0%
ZDH (SA88) 0.0%
= Bl 1 11 0.0% 2
B O R | 00%] 00%|] 0.0%| 0.0%| 0.0%| 0.0%| 0.0%]1000%| 0.0%|f100.0%
i & 2 2
4 FRUESBWCRITDE 1 BEBDFERISOIREER I ER
X215 |16~ |25~ [30~ |40~ |50~ |60~ |65 -~ = oz | 24
JRBE M| 24| 2om| som| acm| som| eam| wr| TE S S|WRE|A &
BaEESrp 1 1 [1000% 2
bR &EeRtn 0.0%
BérsEAD 0.0%
Z0H (SA8A) 0.0%
= 5t 1 11 0.0% 2
B R | 00%|] 0.0%]| 0.0%] 0.0%| 0.0%]1000%| 0.0%| 0.0%| 0.0%]f100.0%
21 & 1 1 2




RESHAEERR (7AXR) (BR3)
1 FEEIRR 2 SBIBBIREHERUIE R
VAN \ >3 S
EEEID | wEy|asss - SR —ﬂ%i%iﬁ 25 |rave|z@me|zom)s 3
2% | 358 71423 25 o7 51126 o2 1 37 | 358
T | 428 15 | 507 RAEHE JoE | 143 811361113 2 26 || 428
@R -70 -8 | -84 | -46 -3 | -10 | -21 -1 11| -70
R | -16.4%| -53.3%| -16.6% 25 O O 2 3 1 1 7
sgx|l 4721116 | 570 LB TUE 5 2 2 4 0] 2 15
| -5 -2 0] -1 1 -1 -8
3 E X)) pIR@BELINT
_ S| 2B | 25 | x| B85 [=mxu| 27 | B8 | 218 |52 &3
2% | 113 5 5 41 40 9| 149 21 6 6| 358
FRAHE JTE | 107 6 8 19 55 15 182 16 11 Ol 428
B 6 -1 -3 -15| -15 -6| -33 5 -5 -3|| -70
25 1 O 1 O 2 O 1 1 O 1 7
Llg=F>\ ToEE 1 2 1 1 2 1 2 1 2 2 15
I O -2 O -1 0] -1 -1 O -2 -1 -8
2F | 146 9 4 5 45 11 168 22 6 T 423
8I5BH JTTE | 134 4 9 23 65 17| 212 17 14 9l 507
BB 12 2 -5 -18| -20 -6| -44 5 -8 -2l -84
4 BRIFELINR
18| 2B | 3B| 48| 58| 68| 7TB| 88| 9B |[108|118|1 28| &5
1 53| 78| 49| 47| 41 40| 50 358
REBEN 1 1 0] 1 2 1 1 7
8B 66| 99| 60| 53| 40| 49| 56 423
5 Bl SROARERIDIEE
XD |15 |16~ |25~ |30~ |40~ |50~ |60~ | 657 P . Y
JREE 0| 24| oom| zom| acm| som| eam| wr| TP | T |WAE|E
SEJIEPEtIRus 1 1 1 3l429%| 10
ZdREnEen 1 1 2|286% 1
BhEED 0.0%
BerEEAP 1 1 2|286% 1
s 17 B 0.0% 3
20t (S7R6E) 0.0%
= = " 1 > 3 7l1000%| 15
B A E 0.0%[143%| 0.0%| 0.0%|14.3%| 0.0%|286%|42.9%| 0.0%| 1000%
D] = 6 9 15
6 FUESHRCHITDE 1 BEBDFERISOIARERIEET
XD|15m% |16~ |25~ |30~ |40~ |50~ |60~ | 657 ~ = i
JRBE WMR| 24m| 2om| 08| 4om| som| eam| WL el SRR LG L
SEJESECiRes 1 2 1 1 5(714%| 12
iR &R 1 1 2|286% 1
BersEEAD 0.0% 1
Z0t (ZF88) 0.0% 1
= B 1 1 2 1 2 7l1000%] 15
B O X | 0.0%]|14.3%] 0.0%| 0.0%|14.3%|286%| 14.3%| 286%| 0.0%]|1000%
D] =3 1 2 1 4 7 15




A

1

500

450

400

350

300 F

250

200

180

100 r

50

RBEBSEWREINT (BXR:T9352) (BR4)
FEINR
FEMHE REBE 8EEH
% A A
472 T 16 15 600 51)—
428 ] 14 L [ 507
[ ] 500 }
368 12 | 16 423
400 }
10 |
8t 7 300 ¢t
6
200 +
4
100 *
2
. . 0 . . 0 . .
D25 BIFE S5FFH D25 B[IHFE S5FFH SN2 HBIFE S5FFH
2 FIERIFEBHEDINT
+DR2FT7AXK + DATET BR

% ok I
N w E-) ($] (=]

10

:g.;

>

A

LE )
et Aer A ARRR &Mr

, [,

Sl BxR BB AN BT BRAU XF R®E FR S=&

SH | BfxX | 858 | BN | BF (B8 | XF | BE | Bk TE];EB%K &5t
BH2F7BXR| 1 1 2 1 1 1 7
[OTETBR| A 2 1 1 2 1 2 1 2 2 15




B SEWREENR (7TBAXR) (BR5)
AE C 7 78 ) (BIEEDER 150 15A )
HER - BEEE - BEER (R (BIE) — HE - SEEE - SRR (R (BIEF)
ShREX 11 143%| 1A 143%] 2 2A| & = B T 1000%| TN 1000%] 10 10N
B2 1 143%| 1A 143%] 1 1Al & C 5 S5A
EER 21 2A B [ B 1 1A
EREE] 11 143%| 1A 143%] 11 1A A fE B 21 2A
2 ' N 1 AN s N & B o 286%| 2N 286%) 1 1A
Bl B =S 2 286%| 2N 286%| 2t 2A| B K [ [E] 1 143%| 1A 143%] 4 4N
ZFAL 1 1A B A B B ot 286%| 2N 286%| 4 AN
KX T 11 143%| 1A 143%] 218 2A v iE B 11 143%| 1A 143%] 2t 2A
B 8 1 143%) 1A 143%] 1 1A T H% [=! 11 143%) 1A 143%) 1 1A
2 IR 21 2A B @ & ¥ P 3A 429%|@=ED 10A
EEERE T 143%| 1N 143% 8= - B8 an P | oA 286%|mis 1A
5 5 B 21¢2A§$@@§¢
& El 5 5A 8 B & 85 F B 2N 286%| iR 1A
i [55 o8 2l 5 05 3A
Bl 8 & ot 286%| 2N 286%| 2t 2A ZOof (SR8E)
HEIAE 3t 429%| 3A 429%] 4 4N 15 m M F 55
Z Dt 14 143%] 1A 143%] 215 2A 55 INFE R
TEGN - Shha | 21 286%| 2A 286%] 2 2A hE4
= TESN | of 286%| A 286%| 1 1A & (16~24m%) 1A 143%
%3 REARR 1A [55 20~24
W/i BIREIRE 3 a29%| 3N 429%| S SA 25 ~ 29 &
=l SN—7 11 143%| 1A 143%] 2 2A 30 I\
B ot) b 1 143%) 1A 143%] 3t 3A 40 = 1A 143%
A |EEmEGe 50 I 6A
xi | EHPe—-® 1 1A 5E 60 ~ 64 % 2N 286%
8 [#Ehe—-6 = 65 m WM Lk 3N 429% OA
U [Zom RPN = >5 BB EED 1A 6A
IVt 21 2A|| @ B - Rh8#rd 1A
5 F@®RE| 2t 2s6%| oA 286%] 3tk 3A|| B EMLEP
2| s [E= 0 E| off csou| 24 zsewn A EEEELEE A A
Sl [EEFE 5 S DA
o | 8 [ B = RPN 55 @ - BmE
Bl Zof@ HMD (G —70) 1A
NGt 41 571%| AN 57TA%| 4 4N @i (E—18)
B om & 21 286% 2A 286%| TH TA Z DO 1A
HES 11 143%] 1A 143%] 2l 2A Z Dt [
A~ 8 i ] A BA 857% 11N
g S & 8 11 143% 1A 143% 4 = o 1N 143% 4N
B Al & 17 g B i 6N 857% 13A
B e % E 1 1A Bl 2y [E3 1N 14.3% 2N
A W) AN SE B | 1 143%] 1A 143% 15 m MU T
BRBafTH3E &8 (16~241%) 1A 143%
5 [BESGENES [ 35  20~24
w[—BFXEIL 25 ~ 29 m 1A
R | o [Wrwu-Hge] 3#F 420%| 3A 429%| 3tk 3A|| = 30 A 2A
2 [nram at_3All — [_40 A N A
A & [9BFram = 50 B DA 250% A
% [R2rEn [0 ~6xm | 1A e
2| Z2EE| 1 143%] 1A 143% & 65 ®m M E 2\ 286% A
Iz o o oA # x B8
Z ot nER| 14 143%] 1A 1439 2t 24| B [ & = A BA 857% 11A
X 6 N I S D TA 145% N
00~02 o ;)
02~04 1 1A , B M 6.A 857% 14N
04~06 %Eu Z & TR 143% A
06~08 1 143%| 1A 143%) 1 1A A~ 83
08~10 1 AN
% 10~12
2l 12~14 A 571% 4N 571%) 21 2A
14~16 2 286%| 2N 286%] 21 2A
16~18 21 2A
18~20 3 3A
20~22 RPN
22~24 21 2A




RBHESHALINR (BR:T37)

1 ERIRIHHY
B2 5F | HATTE
SR 1 2
5 B 1 1
I 2
(=i 1 1
=N 1
=] 2 2
EH AU 1
K F 1 2
IR 1 1
= IR 2
& &t 7] 15
2 BRI
B2 | BT
SR8 1
BSE 2
8 5
! 2 2
B A8 3 4
Z D 1 2
& &f 7] 15
3 EBIRBIEEL
T 2 F | AT
RERSE 2
8 KB R 3 8
BEh-7 1 2
Z DAt 1 3
& &t 7] 15
4 SHEETRIHE
D25 | BATTE
A X & 2
g WmEE 4 4
i 2 7
Xy HIEE 1 2
A 83
g5 5t 7] 15

(BR6)
(a3 0BF2F  oHFTE
e R SRR =g 155
By 2958 B% KT B
s o525 O5F0TE
6
4
O L |
[SPESE] EE0E B8 g & mHmEfhE ZFoft
15 o525 oGRITE
10
8
6
4
2 L
2 | [ el ]| e |
RERE EPRELR EpEN-7 ZDit
81¢ OSFI2F  OSHE
6
4
° H d_
0
AXIEm E=Tinpis)=] B xi51Es




5 SHERERIHE

(1) AXISBWHE St osH2EF  OSHRE
SR 26| SR
N - SEEG P
B Pe—® 1 1
B PE—®
Z O _f 1 © & e e Z0ft
= 2 i) &—® &—-®
FFP
(2) BmEHRSEHN
SH2 % SH0E e OTH2F  oTNRE
Fmmz| 2] 3| | 4
Ez0m®|]| o 5
FaRanl Tl 5
B & 1
Z D 8 1
& &t 4 4 0 ,
TEER BB GRS B Z 0t
6 IRRERIFEEE
B 2F | HRTE A OGA2F oSinasE
SEEPELTREs 3 10 12
B= - BV@&D| 2 1 10
EIEE S
EEEE I o
5 735 3 2 O o | [
D (S48 0
< E%T 2l e T
S 5t 7] 15 B gt (&)
Eancp
7 BRERMEE
asSF28 oOBFTE
SR 26| SRR i - ' '
EEE | 1 ES i —
5 {g” B G Glah&TT
e Rk E 1 RSRE —
Bt ARIEIR 1 EURER
BiaTins BIeBIIS |
BRISITE IS BERSTERE |
— A= —BREL |
z || 3 3 NIV T U-SERAE
2 |wram 3 z AR -
E MBRER ; BT |
% [meras i
2 HT‘“‘E’“‘ Bz RRRER |
agj; ZERE 1 E S weme
5 [Zoofi 2] | By
%@E%gﬁ L i ZODER
~ = NeJE|
S et 71 15 i )

# O

1




8 BFERIHE
f aSH2E  OSHAE
SH2E| BH0E .
0O0~02
02~04 1
04~06 ol 3
06~08 1 1
08~10 1 3T B
10~12
12~14 4 2 2t
14~16 2 2
16~18 2 1
18~20 3
20~22 1 |_| |_|_| |_| |_|
22~24 2 ° %2 46 &m0 12-14  16-18 20-22
5 g-l- 7 1 6 2-4 6-8 10-12 14-16 18-20 22-24
9 BRI —
BSRI2E  OBFTTE
SH 25| SH0E -
R & 7 10
" B 5 RE |
S &t rl 15 #0 2 4 6 8 10 12
10 EBRIEFH
Py Penpyn # 05248 O5F0TE
5 ] °
A 2 4t _ __
n 2| 1
X T 4 3T
7N 2 4 2t
——— Lo [kl ]l
T 11
g &t 71 15 0 I_I - r I
B J=| W X K & +
11 FEERIEEH
A oSf25E  ORHTE
SR 2| SHE 10
15 MU T ]
16 ~ 24 &| 1 &1
25 ~ 29 & 6 F
30 A
40 SN sl
50 A 6 oL
60 ~ 64 & 2 o o ”
65 ﬁ J:){ J: S 9 ° 15/% 16 25 30 40 50 60 OS5
5 &t 7] 15 MF o~ o~ R R~ ME
24 29 64




12 G5mULIRRERISEE

B 25F | HITTE

EEIESCEN 1 6

B - RIhEERP 1

EHMEEP
EEEEIER 1 1
> 13 & 2
Z Dt
& &f 3 9

13 BLRIBEEH

A OS24 OGR0TE

]

6

5

4

3

2

' 0 ml |
B#iE 8= Bl Be#rgé X RE=] ZDi
EFRD [Rid @D FERD (BT

Eénp

BF2E OSHTE

—

% |
% &
AO 5 10 15
| | BBH2F 0BHTE
o |
RA b
AO 5 10 15
fr aBH2EF  OBHTE
8
6
4
2
o 0| [ I_I AEERARNEN r
15 16 25 30 40 50 60 ©65m A8
VSN ~ ~ (Y ~ ~ ~ ME
24 29 64
| | BSH25 0BHTE
2] — .
24
PN
#o 5 10 15

SR 25| BRTTE
5 6] 13
Z 1 2
El 7] 15
14 8K - BHBIEH
S 25| BFTE
EES 6 11
B 5 1 4
S of 7] 15
15 H14ES
(1) FHER)
T 25 | HROTTE
15 m D&
16 ~ 24 | 1
25 ~ 20 & ]
30 R 2
40 R 1] 1
50 R 2] 4
60 ~ 64 & 1
65 m ML | 2] 7
= B
3 of 7] 15
(2) BUR
D25 Bi0aE
= 6| 14
Z 1 1
X o3
=l 7] 15
(3) B - BHE(ER
SR 25| BATTE
B & 6| 11
R 1] 4
o
35 of 7] 15

BLH25F 0BF0nE

=54
eA

#O0 S

10 15




@SR OMEEH (78X (BRT)
HA2578318 R#E
ELIEN] AO ERAELEFHAE lkitor B & N&fz
1 =] 10919 28F 6838 1519 3
2 SEXH 188, 74052563308 31 18
3 JAVGEL) 159615158898 357 11
41 Sk 2941 | EmR21F11 848 3,922 1
5| &5 6520|% M1 F7H48 393 10
6| BHEE 16,1081 FEFX30FOH 9B 691 6
7| =% 6,108 FK29F 12898 965 5
8 =Bam 46043|ws W28 7K 28 29 19
O =X 14251 (501 F11 8178 257 15
10| =R 16,525 K31 F48258 463 9
11 AWE 1569051588178 349 12
12| BE2EN 3497 |=NM1EHE108228 283 14
13 KFH 1476675285828 90 17
14| &80 104 79| EX 2938218 1,228 4
15[ &E™D 32837|(sMW2F518318 182 16
16| B0 1066751 58RK268 340 13
17| IS 2, 12| EmR24F7H108 2,943 2
18 828 2006 Em31F18148 564 7
19 BraE] 4192|1331 H48178 471 8
AO&Et 555,663 (A

ADE BATEF1081 BIRED#STAD




;e N E R RXEFHMBEHR (7 B XK) EH8
DA2F 78R
07HOIH ~ 31H 01HO0IH ~ 07H31H
B A ag B N o B
K| R AR DA | HENEE | BEEeR | AR WE fi G B I _
_ I IE_{ir
FLMR 11 12 -1 -8.3 39 35 4 11.4
1t T 1 1 0 0.0 4 4 0 0.0
. JE )] 1 3 -2 -66.7 8 14 -6 -42.9
¥ EI 2 2 — 11 11 0 0.0
it A 0 — 7 5 2 40.0
H 15 16 -1 —6.3 69 1 69 0 17 0.0 17
B 1 2 -1 -50.0 12 40 23 -11 39 -47.8 45
H|lAa B 6 -6 -100.0 26 23 28 -2 22 7.1 23
B 2 9 -7l -77.8 29 21 36 —7 35 -19.4 31
B H 2 4 -2 -50.0 24 27 20 4 10 20.0 7
2 2 -2 -100.0 19 35 17 2 13 11.8 10
@ 5 5 3 2 66.7 30 19 34 —4 2711 -11.8 28
H 10 26 —16] -61.5 140 158 -18 | -11.4
R 16 7 9] 128.6 30 3 61 19 1 31.1 5
s 5 2 3] 150.0 44 11 57 -13 43|  -22.8 33
B K 4 2 2] 100.0 31 18 48 -17 45]  -35.4 42
B R 8 4 4] 100.0 24 27 25 -1 20 —4.0 21
B E 5 7 -2l -28.6 63 7 68 -5 33 7.4 24
T 3 9 16 -7 -43.8 66 6 83 -17 45| -20.5 32
) 13 11 2 18.2 84 1 78 6 ] 7.7 15
B 2 10 -8  -80.0 34 15 46 -12 10]  -26.1 35
IET 2 3 -1 -33.3 11 43 15 —4 2711 -26.7 36
Wl E % 1 3 -2 -66.7 22 31 29 —7 35| -24.1 34
&[] 7 5 2 40.0 61 8 54 7 6 13.0 8
B 56 63 =7 -11.1 440 503 —63 | -125
= 2 1 1| 100.0 19 35 19 0 17 0.0 17
A i 3 3 0 0.0 30 19 16 14 2 87.5 1
& It 5 5 — 19 35 17 2 13 11.8 10
g7 R 3 6 -3 -50.0 25 24 16 21 a7l -45.7 43
= 8 16 -8  -50.0 84 1 76 8 5 10.5 12
Wl = & 2 6 -4 -66.7 44 11 40 4 10 10.0 14
B 23 32 -9 -28.1 221 214 7 3.3
B A 7 1 6] 600.0 25 24 37 -12 40]  -32.4 37
il I 1 3 -2 -66.7 32 17 29 3 12 10.3 13
X B 6 13 -7  -53.8 69 4 70 -1 20 -1.4 20
fo i 7 9 -2 -22.2 56 9 56 0 17 0.0 17
= B 1 1 0 0.0 12 40 18 -6 34|  -33.3 38
% | Aol 3 -3 -100.0 8 44 15 —7 35| -46.7 44
B 22 30 =8| -26.7 202 225 23 - -10.2
5 I 1 2 -1 -50.0 7 47 15 -8 38] -53.3 46
e R 1 1 — 8 44 12 —4 271 -33.3 38
] 1l 2 4 -2 -50.0 36 14 40 —4 271 -10.0 26
I B 7 4 3 75.0 11 13 34 7 6 20.6 6
= 1 2 -1 -50.0 18 38 20 -2 22]  -10.0 26
B 12 12 0 0.0 110 121 —11 - —9.1
g 3 4 -1 -25.0 12 40 26 -14 44| -53.8 47
milE i 6 2 4] 200.0 34 15 21 13 3 61.9 3
=g 5 6 -1 -16.7 21 33 24 -3 25| -12.5 30
Sl 2 4 -2 -50.0 18 38 16 2 13 12.5 9
5 16 16 0 0.0 85 87 -2 2.3
& [l 7 5 2 40.0 49 10 52 -3 25 -5.8 22
e 1 2 -1 -50.0 23 29 14 9 4 64.3 2
L E R 5 1 4] 400.0 22 31 16 6 B 37.5 4
JE A 1 5 -4 -80.0 23 29 35 -12 40 -34.3 41
NI 1 4 -3 -75.0 25 24 27 -2 22 7.4 25
G 2 2 0 0.0 21 33 20 1 16 5.0 16
PN | RV 3 5 -2 -40.0 29 21 33 —4 2711 -12.1 29
A 3 -3 -100.0 8 44 12 —4 271 -33.3 38
B 20 27 -7 —25.9 200 - 209 -9 —4.3
aat 190 229 =39 -17.0] 1,547 1,647] -100 =6.1




B 8 v 8 Bl & @ & B (7 A X)) &EHBHO
DA2F7BXK
07H01H ~ 31H 01H01H ~ 07H31H
= ig N " B
_ JE_{r JE_{r
AL IR 3 6 -3] -50.0 16 15 1 6.7
i B fE 1 1 0 0.0 2 4 -2 -50.0
i JE I 1 2 -1 -50.0 5 11 —6 -54.5
N Sl 1 1 — 5 7 -2 -28.6
b A 0 — 4 4 0 0.0
H 6 9 -3 -33.3 32 6 11 -9 2 -22.0 31
i 1 -1] -100.0 6 42 15 -9 42| -60.0 46
WA T 5 —5[ -100.0 19 18 19 0 20 0.0 20
B 1 1 0 0.0 16 25 11 5 8 45.5 5
K _H 2 4 -2 -50.0 16 25 16 0 20 0.0 20
T 1 -1[ -100.0 12 37 11 1 14 9.1 14
tlwE B 3 3 — 15 30 20 -5 35 -25.0 35
B 6 12 6] -50.0 34 92 -8 —8.7
R 4 2 2] 100.0 32 6 22 10 4 45.5 5
Kk 4 1 3] 300.0 29 8 35 -6 37l -17.1 31
i K 3 1 2] 200.0 20 15 29 -9 42 -31.0 38
B R 3 2 1| 50.0 14 34 13 1 14 7.7 16
W E 1 1 0 0.0 33 5 36 -3 30 -8.3 26
+ 1= 6 5 1l 20.0 39 2 46 —7 39] -15.2 29
)l 5 4 1| 25.0 34 4 33 1 14 3.0 19
s 7 -7 -100.0 292 12 30 -8 11 -26.7 36
TEY 2 -2] -100.0 5 44 7 -2 2711 -28.6 37
K| E B 1 1 0 0.0 17 24 18 -1 23 -5.6 24
e 3 2 1] 50.0 35 3 25 10 4 40.0 7
B 26 26 0 0.0 248 272 —24 —8.8
2 1 2 1 1] 100.0 16 25 15 1 14 6.7 17
=N IEE 1 1 — 16 25 12 4 10 33.3 9
& I 4 4 — 15 30 9 6 7 66.7 4
I B 2 5 -3 -60.0 15 30 31 -16 46| -51.6 44
= A 3 4 -1 -25.0 46 1 39 7 6 17.9 12
W = & 4 -4| -100.0 25 11 21 4 10 19.0 10
H 12 11 -2 -14.3 133 - 127 6 4.7
R 4 1 3] 300.0 11 38 16 -5 35| -31.3 39
T 2 -2] -100.0 18 20 13 5 8 38.5 8
N 1 5 -4 -80.0 21 14 40 -19 471 -47.5 43
o i 5 4 1| 25.0 28 9 25 3 12 12.0 13
= B 0 — 9 39 9 0 20 0.0 20
% | Fnaki L 1 ~1] -100.0 5 44 9 —4 33 444 41
7 10 13 -3 231 92 - 112 —20 | —-17.9
5 i 1 2 -1]  -50.0 3 47 9 -6 37| -66.7 47
LR R 0 — 6 42 9 -3 30] -33.3 40
il 1L 3 -3| -100.0 20 15 19 1 14 5.3 18
PN 2 2 0 0.0 18 20 20 -2 271 -10.0 27
= 2 -2 -100.0 8 40 15 -7 39|  -46.7 49
7 3 9 —6| -66.7 55 72 -17 | -23.6
e 2 2 0 0.0 8 40 18 -10 45 -55.6 45
m&E 5 1 4] 400.0 27 10 11 16 1| 145.5 3
= 4 2 2] 100.0 13 35 16 -3 30] -18.8 32
= 1 3 -2 -66.7 13 35 12 1 14 8.3 15
H 12 g 4 50.0 61 57 4 7.0
& [l 2 4 -2] -50.0 22 12 26 —4 33] -15.4 30
[ 1 -1] -100.0 20 15 7 13 2| 185.7 2
U E IR 4 4 — 18 20 6 12 3] 200.0 1
S 0 — 18 20 19 -1 23 -5.3 23
NS 1 3 -2 -66.7 16 25 18 -2 2711 -11.1 28
ElE 2 2 0 0.0 15 30 16 -1 23 -6.3 25
IN [ IR 3 2 1|  50.0 19 18 16 3 12 18.8 11
Th 2 -2 -100.0 4 46 5 -1 23] -20.0 33
B 12 11 -2 -14.3 132 113 19 16.8
25 01 107 ~16] -15.0 369 908 =39 —1.3




B 7 8 F W (&1 0D
1 RBBEWEERR . 78H XD 2 RBBWERLINT ( 78 %)
B2 B BIEEH 1 SEEE aiEEH
HH25F 45 (@] 46 SH2F 5 0] 5
SA0TTE 50 3 49 SATTE 4 0 4
1B -5 -3 -3 1B 1 0] 1
SR -10.0% | -100.0% -6.1% B 25.0% — 25.0%
X OREMHISTEOEN SEBHN T, EESHEESHIISTPOED
3 Bal (HED
18 28 34 48 58 68 7 848 98 |108B|118|128]| &3
SN2 8 11 e 4 4 6 5 45
BFOTTE 14 4 8 7 6 7 4 50
4 58RI (HEED
O~2|2~4|4~6|6~8|8~10]10~12(12~14|14~16]|16~18| 18~20]|20~22|22~24|| &%
BF25F 0] 0] 1 1 6 6 2 6 8 9 5 1 45
AR 00% | 00% | 22% | 22% |13.3%|13.3%| 4.4% |13.3%|17.8%[20.0%|11.1%| 2.2% |[100.0%
5 BsHIARl (HED 6 Bshl (D
ezt AR B AR
REREF 23 51.1% ESpE] 3 6.7%
=] iz 10 222% I=PE] 16 35.6%
ZF D 12 26.7% ELIENPEES 26 57.8%
B Hi 45 100.0% = Hi 45 100.0%
7 BHEEE (HED 8 BENoibEt (BriEd)
B3 AR 4= (DB ags TR
XYEETT 1 22% 50mIMF (0] - 5 10.9%
e 6 13.3% 100mIM~ (0] - 1 2.2%
mETEE R 37.8% 500mIM T 0 - 7 15.2%
W | era e 0 0.0% 1,000mIU~ ) - 8 17.4%
P Zofs 10 22 2% 2,000mI T 0 - 3 6.5%
IS EEEE 2 4.4% 2,000mIM E (0] - 22 47.8%
ZDH 9 20.0% SHEAEE 0 - 0 0.0%
55 45 100.0% 55 (0] - 46 100.0%
O EmER GHEE (1. 2%?%@3}) ) -
gl e || w|me|l L 25| a| 2|2 leon]| 2| 5
sl Bl s |2 22 |5-|w]| o R |nvg B
I - I Bl Z gl | | @ [x38] © | 2
= pal % BT B 1% & 07 ) =1 UL °
i W 1@ IZ
YR 00%
NS 1 1 22% 3 4
hE4 0.0% 1 1
aSR4E 0.0% 1 1
F DIt 1 1 22% | 25 26
SWE 1 1 2 4.3% 12 14
85 2 1 1 4 87%| 42 46
ERicEnIEmE| - [500%| - - |250%| - - - |250%
10 PiERIFELEIRNR
BH | B | E5E | BN | BF |BEKU| KXF | BE | Bk | 2R || &5
B 14 (0] 0] 1 6 (0] 20 3 1 (0] 45
EEH 0] 0] 0] 0 0 0 0 0 0 0 0
B8EEH 14 0] (0] 1 7 (0] 20 3 1 (0] 46




B & 8 F &H11)
1 R@BREERR (78 K ) 2 RBBHHREINT ( A %)
12 B BIEEH 12 nEE BiIEEHN
SH25F 56 2 55 SH25F 12 12
SH0TE 58 1 57 SH0TE 5 5
B -2 1 -2 B 7 7
1EE -34% | 1000% | -35% 1B 1400% 140.0%
X REMBIEIBHGRENEN BN T, HELEESHIBTBREPOED
3 Al (B0
1B 2B [ 3B [ 4B [ 5B [ 6B [ 7B 8B [ 98 [10B[11R[12A] &3
SH25F 9 8 10 5 7 5 12 56
SH0TE 13 7 5 13 9 6 5 58
4 BRI D
O~2|2~4|4~6|6~8|8~10|10~12|12~14|14~16|16~18| 18~20|20~22|22~24| &%
SH25F 0 0 0 6 7 8 S) 9 11 4 1 56
BRZE [ 00% | 00% | 00% [10.7%[125%[14.3%[16.1%[16.1%[196%| 7.1% [ 1.8% [ 1.8% |[1000%
5 BEBIIAR (HED 6 BigRl (0
a== R == MR
RERE 39 69.6% ESPE] 8 14.3%
8 I8 15 26.8% 2B 21 375%
ZDit 2 3.6% hElAM B 27 482%
5 f 56 100.0% &  =f 56 100.0%
7 BHFER (HE0 8 BEBENHH5 Db (BEEE)
== R nE AR ais TR
Bénexi A 0 0.0% 50mIT 0 0.0% 0 0.0%
= | EBEZE 1 1.8% 100mIU T 0 0.0% 3 55%
m Be®E 3 5.4% 500mIU T 0 0.0% 16 29.1%
B HEU\GE 29 51.8% 1,000mIU T 0 0.0% 6 10.9%
B =om 22 39.3% 2,000mIU T 1 50.0% 11 20.0%
EEEE 1 1.8% 2,000mI; £ 1 50.0% 19 34.5%
o) 0 0.0% SBE AR 0 0.0% 0 0.0%
53 56 100.0% 83 2 100.0% 55 100.0%
O EDERBERE (1. 2BEEDH) )
= . X x . o 1] zZ - 2| =
E| B |lez2lxn| B R | |l2|=2|% |mux[ 2| s
z | x [a2|F | A | x| 12213 %28 = | .
Bl o | Bl & |a | 2| &0 ¥E[C|°
=3 T 2 it (L_.
418
INPHE 1 1 1 3 53 1 4
A
Eres 1 1 1 3 53 5 8
ZOMES | 1 2 2 2 1 1 1 10 [175] 15 [ 25
SHE 1 1 1 2 1 6 [105] 14 || 20
&5 2 3 3 4 2 1 1 4 2 22 1386 35 || 57
BRICEn3ERR| 9.1% [13.6%|13.6%|182%| 91% | 45% | 45% [182%] 9.1%
10 PiBBIREEIAR
BE | B0% | & | BN | BS |ZeAl] K7 | BB | 2k | 22 || &
= 19 1 0 0 5 0 28 2 1 0 56
REH 1 0 0 0 1 0 0 0 0 0 2
BEEH 19 1 0 0 4 0 28 2 1 0 55




SIRBDRIFADCRBSHOHER (BR12)

1 BBEAD - BBERFADORS  (ADESHE1081BREDHEAD)

w22 | P23 | w4 | wo5t | o6t | worE | vosE | w20 | 304 B

i & [153614|153376(157,197|161,774| 166,084 169,439| 171,530 173,562| 175,389 176,499
B [ 26.1%| 26.2%| 27.0%| 28.0%| 28.9%| 29.7%| 30.1%| 30.7%| 31.3%| 31.8%
¥ #®| 100| 100 102 | 105| 108 | 110 | 112 | 113 | 114 | 115
A O (588667|585475|581,870|577.642(574,022|570,188|569,579| 565,233| 560,517 | 555,663

ait

o>

30| H

#n & |68218|69,710(74,823|80,882|86,279|90,017(93,560|96,747|99,960 | 102,240
B [ 17.8%| 18.1%| 19.5%| 21.0%| 22.4%| 23.4%| 24.4%| 25.3%| 26.3%| 27.0%
¥ #®| 100 102 ]| 110 | 119 | 126 | 132 | 137 | 142 | 147 | 150
2REFAD | 384,246|384,470| 384,555 385,303 385,212 384,299| 383,215| 381,715| 380,207 | 378,123

O>#8

2 SWESHOHEE (U357 228 NDSEEZ100E UZFRIFEH. )

€00
160
BRERTAO e ——*
140 =TT
120
100
80
60
40
SEHEE 1 YRR
20 : : : : : : : : :
W22F W23F W24F W25F Y26F W27HE  W28F W20F F30F Sk
O2F | 234 | 245 | 25F | 265 | 27F | 28%F | 29%F | 304 | nHE 725;
g FAEMEH | 337 309 | 248 | 250 | 241 | 250 | 242 | 226 | 220| 242 o6
7 ALK | 186%| 185%| 17.9%| 19.5%| 206%| 23.7%| 24.5%| 23.4%| 25.3%| 30.1%| 26.8%
1
s B | 100 o2 74 74 72 74 72 67 65 72
=l B H™ 19 18 16 11 20 21 11 17 8 20 3
g WBEVR | 45.2%| 69.2%| 53.3%| 44.0%| 588%| 55.3%| 64.7%|65.4% | 40.0% |64.5% | 42.9%
#% ¥ #®| 100 95 84 58 105 111 58 89 42| 105
§ aEsEm | 370 204 | 262 | 277 | 256 | 217 | 224 | 220| 192| 188 74
~ BRE [163%|142%| 1568%| 17.1%| 183%| 17.4%| 180%| 189%| 187%| 196%| 17.5%
e € #®| 100 79 71 75 69 59 61 59 52 51
| FEHE 1,812 (1668 [1,.389 [1.280 |[1.168 [1.053 | 987 | 965 | 869 | 805 | 358
= mEXW 42 26 30 25 34 38 17 26 20 31 7
B[ aEEH (2273 [2076 | 1,658 [1,619 [1,396 | 1,250 [1,043 (1,162 |1,0290 | 957 | 423

CE. SHBSSHUDOELEHHMIL. SHBSNE1 BBESOSH. FHIESHISEHSOIE LIZAKD




SRESEVOEH (7B X)

1T SHEBBSWARENRR

(BB13)

X BRER=D58HB/EH

(1) EERR (2) ISRRISEIEE
rm | wen | ass iEEH] BE
26 | 96 | 3 | 74 me | 15 | 195%
wF | 121 | o | 103 g8 | 32 [416%
ggm| 25 | 6 | 29 mavE 24 | 312%
gk |-20.7%|-66.7%|-282% zot| 6 | 8%
R, BHENS1 SFEOENR 85t | 77 | 1000%
IS M EDTES LIEASK
(3) FERISEIEEE
S FAIES B8 Py BS ZHAW KF B8 FiR B& &t
SEEH 2 1 3
aiEH| 21 1 1 14 1 29 7 T4
(4) BERISEEER
0-2|2-4|4-6| 6-8 8—-10 [ 10—-12 | 12—14 | 14—16 | 16—-18 | 18-20 | 20—22 | 22-24 ast
S 3 2 13 14 11 11 16 5 2 77
BRE 39% 26% 169% 182% 14.3% 14.3% 208% 65% 26% 100.0%
(5) BRAIFEH
E " g
e | 2| - | : D 1 7
B a8 | 5 . B : g 2 .
g | 2| g ’ 0 t 0 o o
8 £ 5 ] | x s i fts °
& Ui ¥ ] = G
5 z
e 4 9 7 7 1 7 15 35 11 96
BEE | 42% | 94% | 73% 73% 10% 73% 156% 365% 115% 1000%
2 BEEEECBHOR
(1) EERR (2) ZEHDEEH
TES | s | 7omns | BE TEM | s | HOUE
2% (R 2% | 1547] 869| 562%
7 | 15| o 7[eoo% wig | 1647 008 551%
g | 8] 6] 6 gmm | 100 -39
ek |-53.3%|-66.7%|-85.7% ek | -6.1%| -43%




(3) FHhrplEBEH

15 | 16/~ - 55 || 4=
L\/A—F 24% %@ﬂ‘g IEJ@%% 75%L>(J: DD‘T‘
FEEE 1 3 3 1 7
AR 14.3%| 42.9%| 42.9%| 33.3%[100.0%
(4) FEB—HZEBEDOEHpISBEULEE
158 1 4 2 1 7
Ak 14.3%| 57.1%| 28.6%| 50.0%|100.0%
mo swns| B5E |maEs| &5t 6
S 1 2 4 LA
SHESHE 1 2 3
S5575mME 1 1 2 H_I
SIS DEAR 50.0%| 42.9% 0 D
EE% B HETAE S
A =Py O 5
(6) BRERIFEH (RERIMTEEZSED) 6
TER| OB | 2o || &5
4 L
Eoxas i 2 4 1 7
S5H55HE 1 1 1 3 2r
SHTEHME 1 1 o J:[L 1
SEBOBRR 250%|1000%| 42.9% i 5 ZoHt
(7) IRRERIFEBEE
BIE |BZTRY| =@ B#rEs = ZOfth P
B | @amop | @Eb | ®AP | 20T | @ | OO
T 3 2 2 7
LT =] 1 1 1 3
SHET5mIMLE 1 1
SEBOEBRE | 33.3%| 50.0% 50.0% 42 9%
SIS OEDEED
BEs g — '
B R Eench
EmEED
EER=E )
#HTh
Z0t
0 1 2 3 4 A




(8) BRBISEEE

B | me || szt X o D2
SEH 7 7 8
SEEHE 3 3 o
55758 1 1 ol
SBRBEOBRE | 429% 42.9% 21
O
B s
(9) BITIRRERIDEEEL
TElTh STE RS s A 0SHE 02EE
@_)@ @_)@ EE’?& %@1@ O EI_I— 1
2FH
S5aHE
55758 5
SHEDBRE e-& &-®
A DEBHE 8RR
1
0O
M ESE 20t
‘BT




BRI « ERIZFIEERR (7AXK) (BR14)
SEIES 12 Bé#rs
&5t HITE ZDi
BIn [i:=qun] BInh @EDP EER D [iE:=dun]
= B 358 7 423 3 |241 70 2 9 2| 55 46
& = m| 3 3 1 2
5 H mMm[119 3153 2| 80 35 3 1119 15 1
J\ 88 @81 5 9 4 4 1
. & W |
g 8 @ 3 3 2 1
A EE| 10 10 6 3 1
= g m
g |E & | 23 2| 28 1| 14 7 1 1 1 5
Jt = @ 7 7 5 1 1
= g @ 6 8 6 2
XN W @ 5 5 5
Mlgsen| 7 10 6 2 1 1
¥ F M|140| 1 [156 91 16| 1| 4 27 17 1
B 5 e 3 3 1 2
B B ml 21 1| 22 16 1 1 2 3
B B & @8 5 5 3 1 1
I /8 &
B % @ 1 1 1
s |
=] HY(113 1 (146 75 35 2 1119 14 1
# 2B K[ 5 9 4 4 1
= @l 5 1 4 1 3 1
5 | w4 5 2 1 1 1 1
B 5| 40 2| 45 1| 25 7 2 1 4 7
ZEFAWLl 9 11 9 2
g S F|149 1168 97 18 1 4 28 20 1
i Bl 21 1| 22 16 1 1 2 3
21 = R 6 6 4 1 1
= Rl 6 1 7 1 6 1




BB« BRl - BHEERIFEEIRNR (7TBRD

(BB15)

= = = = ETT]
Cle|m|s|=]|= S| x| m 3 ol B I
Tl |zla|lw|s|3]| 2= 3 I B o
s #1358 ||113 5 5 41 40 91149 | 21 6| 44 |306 7 1
=1 g 4 = 7 1 1 2 1 1 1 4 2 1
& B Bl|423|146 9 4 5] 45| 11 |168 | 22 7145|373 5
s | 33 8 1 2 1 21 1 32
og |m =
g & 3| 36| 10 1 2 1 22 1 35
s | 12| 10 2 12
295 114 =)
g & B 22| 17 5 22
s ]l 13 9 4 13
535 114 =)
e & 3| 13 9 4 13
s g5 6 6 6
1795 |3 =)
s B = o 9 9
s K 1
1808 |m =
s & | 1 1
s gl 7 2 7
1815 |3 =)
s B = 7 4 7
s e 3 3
3135 |[% =)
s B = 4 4 4
s |l 20 18 2 21 18
4315 |3 =)
& & Bl 25 23 2 21 23
ﬁ gl 2| 2 >
zof |5 =
g B = 2| 2 2
7 K 1 1
= =R E|5E =1 1 1 1
a5 B | 1 1 1
7 G 5 5
5 s @R =
s & = 6 6 6
s | 46| 23 5 21 12 3 3| 43
T =75 E]E =
=] g B Bl 55| 29 6 21 12 5 3| 52
8 s #| 80| 26 2 3 8 3| 33 5 13| 66 1
— R B B|5 & 2 1 1 2
g B B 91 29 3 4 8 5| 37 5 14 | 76 1
s | 92| 21 1 1 10 1 47 | 10 15| 73 3 1
m OB N B = 3 1 1 1 2 1
g B 105 28 1 10 1 55 9 15| 89 1
s | 37| 14 6 21 14 1 10| 24 3
Z D fto| 5E & 1 1 1
g B Bl 46| 22 6 21 15 1 10| 33 3




